CET 12" Level (2nd Shift) Answer Key Dated : 04.02.2023

1.

10.

1.

"SIl HiEar' gt 9-

(A) et fRRUT ER&UT & (B) &Y TR&or |

(C) fasig sfa & (D) ame wRaor & [D]
qu i o wEE fi gt § JeeyE & 2011 F
IS A 87

(A) 8 af e (B) 244t &H
(C) 27 @i sm (D) 12 af&e [A]
%u’qmgﬁm%— _
(A) Temm | (B) Tar T H
(C) srnfdaiRenk & (D) TRt & [c]

TS &1 I@ & fhaas Aqea d grarfea gsm an
[ 3

(A) &ft, &ft. emer

(C) oft. TH. AU
101 =1 9% 8-
(A) 1050501

(B) dt. g7, M=
(D) w=. &Y. aiesferar [D]

(B) 1020201

(C) 1030301 (D) 1040401 [c]
1857 & a1 UTH H FHIT HERT™ H Fgraanr &
forg R Trea 3 @fRes ggraar A< ?

(A) Freft (B) SR

(C) witagr (D) JeTR [A]
aﬁmﬁ@aﬁﬁmmmﬂmwﬁwm&
(A) gt &g (B) agsiit

(C) fermfther (D) ER [B]

afe Qe g 2ig &1 aad 16 H aur F=rg 12
Ht &1 36 YR T AT &-

(A) . (B).4 .

(C) 2 =t (D)1 [B]
areie g vard & & Ferad & ol b et
m%mgfémmiimmﬁm%’ '

(A) s (B) siferdies

(C) sra=a= (D) arfisor [A]
forer Hiten-ehett & Traf-9d &2 N

(A) FE=tomT (B)deant

(C)ws (D) qmmam . [A]

foreft awg (=) @i, s a @ afe e e

A B I/ aﬁwtmﬂﬁaﬁmtﬂ

T@T ST HehelT 8-

(A) a1 &t Srade ar add. (B) »

(C) sraas (D) THa= [B]

12.

13.

14,

15.
16.

17.

18

19.

20!

21.

22,

g Far anyTRa Ay &1 gead a7 Uy a9

T 38T 8-

(A) T F (B) ofrerer &

(C) et & (D) aret / [A]
Choose the most appropriate technical
translation of the following word:

Circular

(A) AifeE (B) uRu=

(C) g (D) e []

T AER Y sTEET 1 &S ¢ afg e o= fagga
&) T 85 gIR &, 99 o7 & 8-

(A) 0.085 (B) 0.85
(C) 85 (D) 8.5 [D]
HIZshIaTge faera A=Y &1 v ;

(A) ©IT5S o g & fag
(B) &€ 3¢ witeq & fog
(C) et Ak hent & forg
(D) ferrg 3 e st & forg [D]
afé g e wrar § CREW @t 96 forar sirar & aur
COURT @t 154 for@r wimar 8, at St Wit & CRATE

@t fFa weanrR A smeen ?

(A) 98 (B) 47

(C) 90 (D) 94 [*]
Remdw svedio e Zrr wRa &1 vy o=@
Hise Al qreh o iR frar smerm
(A) zrsTeis (B) i

(C) Ffem (D) afemTg [D]
IAGTEYT [olfeh a7 AT & oreOed U1 e &t

SrdeTel & FEIe & & R ZR1 gern ST |ahar
£?

(A) e st g
(C) wrgafd grT

(B) Trsgurer g
(D) farems g gmi [c]

IR Y GHER Ut § [T ST IR 3T 82
(A) sroie o= HHi & forg Sirdfea fafde gam|

(B) w1 &1t SR SHRIREI Gl STICH 78 & afiel T TH STl

Tet sre Y S & TR bl ey gea &

(C) ae St gHY ST WS &HTeT G gial ¢ |
(D) foreft faduer o =i & &f ==on & = etu=le
Tt & g SmEifea awg [B]

S -ger WOt & Fqe, U 9 anSeye uget & gt

g A @, 98 HUTTA! hgere! 8-

(A) FzareTes (B) aftu

(C) Tt (D) weifad [A]

f=fef@a § @ &9 a1 Jomgn Sia daifdr o

murfaer &=’ sgeran g ?

(A) e Gotmes (e gorrs)

(B) SIgAY wrgitst

(C) uiefmer

(D) grsgictd [A]

AT & AIESTeh IJUHH R &1 i AT A T8l

&

(A) T & gt IrdeiEe &5 & IusAl & oy =

Uord e 8g THRite g et Far s

(B) roreurs # fAsh 3usmnl ot Ran-fAder 2

(C) aeft ard=ifes &5 & Iusrnl & wraf &Y ARE &

(D) wr=a & fafd== Iushat Y vt § o=y wAT
[c]
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23.

26.

£7.

28.

29,

30.

31.

32

33.

34.

35.

36.

ST & TUH AFHY 9-

(A) ga. St SR (B) =gt gan

(C) hdt.g, #== (D) &.5w. g [B]
TS gl el fead g2

(A) 3reTeR (B) 3R

(C) SR (D) Arde 317 [D]

‘B & fe fEa 8-

(A) waTwTe SR FrEETST & o

(B) Sraret 3R FHererTe F &g

(C) sraTeT 3R TRUR & &t

(D) RteTe 3R Harwie & g [A]
Pr=afaf@a srar sioft & spren s1eR @19 &1 TN
oifgg?

K. ILJ,MIN,H,O,G,P,

(A)F (B)Q

(OR - (D)E — [A]
Qeh wHarg RSt &1 Saee 253 2 g, a9 sH&AI
i\ 8-

(A) 60 |t (B) 30 |t

(C) 50 4t (D) 504 = 3@+ [B]
&Y ITae Rl IUTEA #NT H &Y et &Rt
&9 & forg fRear mam

(A) A (B) faci@ i,

(C) A= T (D) wiferes st [c]
gt ufthan rad sEiAe sows & uig sifaase
aged & fog arg &t e Sufedfa & ggar & T
e T 8, sgerne §-

(A) wTe (B) wsf

(C) sra=mm= (D) fram= [D]
Ry afee & ae@l &1 g R s g -

(1) ueger g1a @ (1) srureaet g &

(ITI) AreieeT &

(A) (1) 3R (111) (B) (1) aﬁz(n} :

(C) (1), (1) &R (1) (D) () iR (1) [D]

Fr=riftra gaif § @ ot o1 gar aoeyE danifg & g
331 i 8?7

(A) &R

(C) utamsr

?ﬁ\ﬁrk’ R IR Q.

(B)&mFEE
D)ok ' [D]
ArhRT HUT A SR -

(A) 2-C W= Ao i ufdfa

(B) 2-C U 3iTerRftST o1 3rdTe

(C) 3-C wR 3iferdior i sufdfa

(D) 3-C WR AT T HATT [B]

Fadds-adarRTH A dERNad ?

(A) STgET (B) fereiett

(C) "R (D) e [A]

SWWmaﬂuﬂi—aélmzﬂqqﬂﬂaﬁm
sitea Fa 8?

(A) 10 (B)7

(C)8 (D)9 [D]
aATo[EE ATYWOT__ F g1 oI 8-

(A) R (B) BTt

(C) e (D) eet [c]
RIS AT T AGS HIF 82

(A) uTBtS Wg (B) Sfrarer

(C) srrefte Wig (D) TeTfT W [A]

37

38.

39.

41.

42,

| 43-

47.

48.

49.

50.

fPefaf@e 4 9 Fa 59 § ggre Sash g

ufreror sraresft Pafomref 22
(A) TR (B) st
(C) == (D) Hiez [D]

AFuTB R Af@F s A 43 FTaquea gl e A &
wcds $600 I=TaT 81 Al 39 g foRd md =g @
HuTe 3 : 2 g, &t B &Y wifdes g gt -

(A) 73,600 (B) 2,400

(C) £2,000 (D) £1,800 [D]
azard qrar frge af=R dearsT (aigarer) § e &,
I2 fohg ok =i & oft ST ST 27

(A) 3mast grar (B) TeTereHt

(C) wrgTenTett (D) Bga gt [D]
SR SR &1 U 7 &I |1 8?2

(A) Fupet (B) sifedt

(C) wRa-reas (D) ®ues [D]

1857 & Azl & wwy fimsht aror & fFe waq
(Tm=) A ewoy & of1?

(A) 579 & 1E 78 (B) &aiftie

(C) st (D) ursiiaféig [c]
GFaAafk 0 F 1M TR RIA T @A & U152
£ 11 & 10 99 &t R A dgen @1 39T o1y ufdga F
a1 g?

(A) 21% (B) 9%

(C) 10°% (D) 1% [A]
TEUT & [l & 9 fehad [ovet Hoeueia &2

(A) 13 (B) 10

(C) 11 (D) 12 [C]
frafta samn aret off & o2 =t @gd &

(A) Qferer (B) TmgrSt

(C) sf urew (D) st [D]

7-8 sraER 2022 @t e R AT IeRuN

[T @ raeT=. R .

(A) e (B) Sitergz
(C) st (D) SR [D]
Ry &-died gafftes St 9t 2-
*(A) TR (B) FehTey,
(C) ehemfR (D) = uda (8]

Choose the correct antonym of the following
word from the options given below:
Encourage

(A) persuade (B) aid

(C) discourage (D) incite [c]
YR A5YA # 'g12' & A1 | HIF-H1 A1 AT 82
(A) FEera o @i

(B) Tafermr

(C) =T =TehR SreehT TU d Td

(D) 3 afT [c]
TS GAITET HTANT & et @i 42

(A) dft. oeat (B) T=. o1&

(C) &. urftex PIEECEH [D]
af& logy x = 1/6, aa X SR &

(A) 27 (B) v3

Q)3 (D)9 [B]
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51,

52.

a3,

- >

56.

57.

58.

59.

60.

61.

62.

63.

65.

Choose the correct option.

Tenders should be written in a language that
is -

(A) brief and to the point

(B) roundabout a lengthy

(C) informal

(D) stylish [A]
16 @4t 7 12 |t yerrait ar Rt omrga & ofRa: o
g1 e T 1 g9 T Sk T 82

(A) 192 @ 2 (B) 967 mt @+t 2

(C) 100 &t 2 (D) 152 e &+t 2 [C]
Ty | e fafehe el el e 82

(A) SR (B) *fierarer

(C) A (D) e [D]
e (Remainder) A9 &1 & AT va v vae
H 9 9T HeE AT A A4 &7

(A) FACT( ) (B) DIV()

(C) MOD() (D) INT( ) [C]

A= | @ = a1 TereuE & sresvisfia AR 82

(A) 23° 30" zfeYor gd 30° 12" &fgor

(B) 23°03' 3<% Qe 30° 12" IR

(C) 23°03' I Td 30° 12" &fayor

(D) 23° 30" 39X Ug 30° 21" IR [B]
16 FawR, 2022 & & A Heed e A ST
iR smaeek fRAfY RygRerea fit snurier waf
i?

(A) Rrzrre # (B) sreer # _
(C) sitagz & (D) s A [D]
"geuaTaS e & :

(A) g (B) forarepT | |
(@k-c) (D) @t [A]

TSTEAT W 2ATH TISTHT il ATHIT=IT 998 & -
(A) =fires uRar 6t dsfehal a nfigem

(B) ®réay HeTdeH _

(C) Beury faghar

(D) Afger @Rt j [A]

32.213: &F et aﬂﬁﬁm Lerf aﬁl ﬂm*—ﬁ T |
? ’

(A) TR (B) Tt

(C) uf=m (D) #Ateent ’ [€]

fPrafaf@a d | &9 a1 wra &1 uuw A &8s ZrRr

Rresfira ke 22

A) dieguert- Sft (B) digagerd!- garget

(C) fersnia - g& (D) ferspm - ¢@ [D]

fdmn FsaFe mfaFA widare -

(A) Li, C 3R CO; (B) Li;0 3k CO;

(C) Lio 3R CO, (D) Li 3R CO; [B]

"ATTEHEIS ' 3= & fore ues a1 aragin &

(A) sITera=T & g (B) R AR e
C)axis ghm arenn (D) &ursR # 7E g+ arenn [B]
gHeas ankElRfa gs........ AT )

(A) washrg (B) wuferfaa

(C) arfgEady (D) Sfarfras [B]
AT e’ AR ATEt yae' e waw 6 e 82
(A) == (B) sToRT

(C) =R (D) wramt [D]

Translate the following sentence into Hindi:

66.
67.

68.

69.

70.

7.

72.
73.

74,

A

76.

71.

Women learn English faster than men.

(A) gt &l Aigesi & uge sl dra-t gyl

(B) q&w 3fidl & Sies! STt Hied &

(c)aﬂﬁwammmm%

(D) 3t ot TSt 3 TepTaet Sedt Sfih SRt TRy
[c]

STH&RI &l HaR "TH (d96) R A9 B R (%)

wgerd! 8-

(A) T & (B) afs &

(C)fae ¥ (D) F=t ¥ [c]
o g gt e & fRAdgor F gesier &1 &9 Gr
a1 Aftreraw fAafea g &2

(A) @ret (B) st

(C) e (D) & [B]
?’ﬁﬂﬁﬁ 7 @ sl &t srg agH wireik F ard ot
(i) st (ii) Temge

(iii) IS (iv) 91T

(A) (i) & (iv) (B) (i) = (ii)

(C) (ii) = (iii) (D) (iii) 7 (iv) [c]
fRamgw zwr e o sgam dhdly. &t JueEy
&RA | T UG g g

(A) T&fET =% (cycle)  (B) e &t

(C) aire wits (D) vertg @rzn [D]
A fAg-gfoear 2022 nfeaifar § Pefef@a g @
I |I Ui e T 319 617

(A) w7 Jxarad (B) wfAemt &g

(C) mferehy &= (D) foet 21t [A]
ThTSht & S99 T ..., 8?

(A) ATeaT [B)aﬁ?,g

(C) @erara (D) gexar [D]
Rl o & s aRal ZRr fferht wht
hendielt Tendt ot STt STTet 2-

(A) iz (B) 3yrer

(C) 7vrs (D) iR [B]

Choose the correct alternative which can be
substituted for the given sentence:
The period of life in which a person is old and

" weak
(A) Supe'rannuation (B) Dotage
(C) Impecility (D) Senility [B]
it 39 @raT &1 areg | fBhar 8-
(A) Areg forar (B) aransien feran
(C) e fopar (D) gdepticres forar [c]

ASTEUTH § IR-AR T Gd Y& 1 31 HIR0T §7
(A) arfrafia auf

(B) &t &t &herd

(C) 5t a1 Sifaderyguf Suat

(D) ¥f# &1 Fera [A]
w0 & Siefa geEad...... R @1 AR wer R
AT 8?2

(A) 150 (B) 100

(C) 120 (D) 130 [B]
uRa & fFa wrvg F 68t Agw rh ate (Fesr) W
araifora i nd A2
(A) arreer o

(C) &t (D) wfees [c]
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78.

79.

80.

81.

82.

83.

85.

86.

87.

88.

Choose the correct preposition.

He took ages.......the job.
(A) of (B) over
(C) above (D) beneath [B]

AT, 2022 # arft srfReg=my 3 AR gAY FrdeTe
& g Iwr ey & gerEl & ®u § uy & @

TS F....... FEGHA §I

(A)30d (B)314d

(€C)33¢9 (D) 297 [c]
Toreur &Y 'SR midht A AvR MRE A= @'
YIRFY e faar mar?

(A) 18 Faw=R, 2022 &t

(B) 15 37T%d, 2022 @t

(C) 9 Raw=r, 2022 &t

(D) 8 saw=RR, 2022 &t [c]
a3t Ieda IAH ... # fag?

(A) g (B) srege

(C) whieTamTaT (D) =& [D]

Trae uiaterar o= awal & @gea uRate g, @ &
(A) IroTear 3R A wRY (B) ST R gfkaron
(C) Iorear siR Ui (D) oA R o [A]
wrelt A & o= & g 19 a1 #u= e 82

(A) RcdteTe (B) s/agR
(C) aigareT (D) s ARG [D]
ety e a8 Sa e T8

STET u = WeRTiRAeh ch & fereer chl g3
Vv = UehRTiRIe e & wiciiera dhgd
f = WA Fz @ Gihd ait

(A f=v+u B L_1,1
f'_ u v

(1_11 (D) "= 1 [D]
f ou v f v ou

dfur F R orgeds & dad Ieadld T AusH
ZrRr uiia el Ridus. =t m;qﬂ & dﬁﬁ &
g!fii?rmmt'-'

A) S1eg 200 (B) %@@;256 |
c) ARG 257 (D) argedz 213 [A]
g Reer aRReds Rewea it BFa Sh @
Hafda g2
(A) SR (B) #ars
(C) arars (D) ger [B]
VLOOKUP e &rd ahedt 87
(A) 7€ o= S aret Renre gaar &
(B) et i FRenfs gaerr &
(C) ag 2rea goar & 5= V' 8
(D) &1 &<F & UheH FHGAT & forg S@aT 8 [B]
YRd & uyd 1w i Rk @ (CDS) w=ee
e Taa &t wRoiwra R e @ genfRe
forar mar?
(A) w1 fersgeror
(C) waT 3qmor

(B) gzHefR =R
(D) e T [A]

89,

90.

91.

| 92.

93.
o4,
95,

96.

97.

98.

99,

100.

T 2 wEET Argtaal & @ ge Ay sy g
Tt wraey & SNMYR WR HEl Iear ITpA wH TET
A 7

Pioblem Figures lwaﬂ?‘%ﬂ

@ Omc' _;o;l.':' ? -

(D (1D) (I1D): AIV)

Answer Figures / S@& angtaal - -

~

Ctrl + Y =7 wai fRan sarar &2

(A) srf=aw fehaT ydad &l & forg

(B) TRTITH Ttz @A & forg

(C) Ueh g1 ht &g &t & forg

(D) sifem ferar &t Ridfie a1 &g ot & g [D]
fre=ifera @ RFd gerdt e (To1e) | uenrfara
o sTar 82

(A)

©)

i (D)

[c]

(A) SF®IRe (B) Afaar

(C) g (D) siferg=AT [D]
(A) AB" (B) O

Qo (D) AB- [B]
saHS 87

(A) et &1 Gl (B) e Gl OREY
(C) e I gHaadt (D) w1 & guedife  [B]
AT o= e A uffs & ok 5 R geeh @1 aw

a‘azrd’faﬂtgaaw4ﬂi=haa?ﬂ%1§=r:a3mﬂ’faﬂ1
gzansﬁ‘mﬂaaeﬁttzgﬁmfam FHE?

(A) ufgm (B) Sca®

(C) afaor (D) g [D]
Rh #ReE ges ufdest & &t & ..o #r
e °X #99 gar g?
“(A) RS (B) 2ad 3fR apur

(C) et &R ot (D) fesmoy [C]
e e & ' wrgaTass’ €3 82

(A) fsar (B) g

(C) &l (D) fgwTera [A]

fFafaf@a et § @ R dw fRA= 37 $fRear
fRFar sneeees 2aer ratd 2022 | Fare TaT?
(A) TorgesilR (B) sraTe

(C) garTea (D) g=rere (D]
Reafaf@a § @ svar g g mea gafaa 82

(A) Rigye - gRaerft

(B) o1 - gRaras

(C) 2meYxT - THEAROTSH

(D) @sT - IS [A]
1 #ftex &1 v nfazra 200 A+ 82

(A) 200% (B) 0.2%

(C) 2% (D) 20% [D]
HITET W YF 87

(A) anerd (B) vr@d

(C) i (D) & [D]
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101.

102.

103.

104.

105.

106.

107.

108.

100.

110.

111.

P dadt angfar ass | sfedrast wreaies 87

—

c28888

I' i
10 20 30 40 50 60
Marks / urais —

(A) 60 (B) 25

(C) 35 (D) 45 [*]
fore wgg # wdt fawiy e AT 87

(A) fafaR - garar B) it - Hfth

(C) e - amag (D) anife; - wresy [D]
SUBORDINATE a1 f@=&t utRnfares arex 82

(A) wETaS (B) afkss soft

(C) srefteer (D) fofta [c]
FYe & H¥eye & uRRed= fhash griglar 82

(A) 39e - 313eyqe 318 (B) GRURe

(C) g.ut.ug. (D) #i.dtg [D]
150 #ft. =t Tz & fidf @ & amaf &1 s Hor
60° @yt 30° &1 ATt & wem & aan & ol i g &
Roda Rar g 82

(A) 200 . (B) 503 .

(C) 100437, (D) 20043 . [c]
oy & g af¥wa widor d ff QUs
frefAaietsh dear= o ®UTaT i STgE?
(A) S.T.TH. AfEehet et ST

(B) Ta.TA. AfSHa diets, SR

(C) T9.qA.79. Af¥aH shictsl, TR

(D) wt.3. @i gifee, shler [A]
a2 ga Bryer # &t ofiel @ e weneil iR = ™=@
ora 9 g, at BYyei g?

No. of Students

ferenfiiai & s

(A) R (B) Fwahor " X
(C) wwarg (D) @ifgag « [D]
e =1 gad F=1 Ay Fé Fg ... T A
o d? -
(A) sTETg /(B)+Fm ) =

(C) iy (D) wieredt L [A]

U 4 : 5 & Ucleh. U§. H 8l HEaL sl Sy
afes ag SruTa 5 : 6 & aXTaR g $Ig?

(A) 4 (B) 1

(0)2 (D)3 [B]
Go throught the following poem and answer
the question given below.

O Rose thou art sick,

The invisible worm,

That flies in the night

In the howling storm:

Has found out thy bed

Of crimson joy:

And his dark secret love

Does thy life destroy.

What does the worm symbolize here?

(A) Death and decay (B) Secret love

(C) Life and beauty (D) Howling storm [A]
grtor AR-fe Resra midezor (F31) &« &t 82
(A) Tt # farsTent-Suerey &R

B) pfd &1 e

(C) IR-zf& & a1 farprm

(D) favear wwemait a1 faem [c]
112. A= & & St=an ofavatze &g 78 82

(A) sm3eaTsT &g GIESIESRIES

(C) wmEs =g (D) TS =g [A]
113. Qe IETE0T 8-

(A) gt srfferar &t

(B) fareamu=r srfrforar &1

(C) T&-fararum sfafosar &t

(D) s arfeifera a1 [c]
114. /772641 &1 5 &-

(A) 889 (B) 879

(C) 871 (D) 891 [B]
115. #Aare ySHUSH & TUTgT RRadY sregarar o 1938 &

§37

(A) sereia g Agar (B) =gz <mf

(C) wuzde re-t (D) SHATEATe SoTTeT [A]
116. P dd s amaM=@?

(A) &t (B) A

(C) g D) Fisgst [B]
117. Fefaf@a d @ fe=- %ﬂmuﬂﬂaﬂﬂs{@m%?‘

(A) & ™ asft (B) IR uwirer

(C) sffemrearR (D) HETHRA [A]
118. Fill in the blankwith the correct option.

The teacher taught us that the earth .............

round.

(A) are (B)is

(C) were (D) was [B]
119. &% & fAd Seaverdl £, e Sfrar gid 872

(A) 7 g7afda (B) w1 wATHR
~ (C) um T (D) 7 Serfi= [c]
120. ToIEUTH & fhaat el | sreondty &y R i

vy R S e R ? _

(A)12 (B) 6
it .-(C) 8 0 (D) 10 [c]
21. ¥y-O%= guug gEan

(A) F=rd it zegmm = Rk 8@

(B) foret oft Ferd R

(C)ERFITE R

© (D) g & SR faeft SaE W) [c]

122."Any kind of letter generally ends with:

(A) Heading (B) Salutation

(C) Signature (D) Subscription [c]
123. war # i s .ow. ok, oE. (WRAT sraRisdiy

fhew TaRlg) 2022 7 R adf &1 wrda Riew

=afvhea aifta fRran mar?

(A) w=taT sToTa (B) ga1 #ifert

(C) RSttt (D) v el [c]
124. Choose the correct indirect form of the given

sentence from the options given below:

She said ""We were thinking of selling the
house but we have decide not to"’

(A) She said that they think of selling the house
but had decided not to.

(B) She said that they have been thinking of
selling the house but had decided not to.

(C) She said that they had been thinking of
selling the house but had decided not to.

(D) She said that they thought of selling the
house but decided not to. [c]
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125

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

U Wit TRt F, Ieuregehar &1 #WT R ............
&7

(A) e (B) vreprar

(C) sta (D) arg (B]
Srerd =T, 915y & R T § ure giet 82

(A) Tt (B) 5t

(C) &Tet (D) et (c]
ufeeR MEF .oveee. H TGS BT H O T
FREAGRIOT TF Faeranrer i == gai?

(A) afg=zarer gom (B) acm=rat

(C) Tmwg (D) MR st [B]
Fs* 3fmaa= &h §3==m 872

(A) daerivfia (B) Brepivfim RS

(C) =i Rt (D) ersetherchig [c]

.. Ueh &1 &t smeen Y sjEen § organg &
aﬁrqa;uﬁwr?. o8 svger 39 &id @t w4 g

IUGT HAE?

(A) AfAT (vawam) (B) frwen fesmza

(C) e fasatyor (grfafa)

(D) =if&m [D]
Qeh U= AN TergfE =t | 15 asi F I g st 21
fra=t af § gg e T g sreit?

(A) 75 (B) 30

(C) 45 (D) 60 [c]

Choose the correct option for the passive
construction.

Everyone calls him a peacemaker.

(A) Everyone is called a peacemaker by him.

(B) A peacemaker he is called.

(C) He is called to be everyone's peacemaker.
(D) He is called a peacemaker.

e s e Hfeg

o g

(A) 24 (33 19 A 1B

(C)20 _ (D) 22 [A]
Hifers ufdeRt & gaa.g o oefae =afes Re afRen
A9 &R Hehel 27

(A) I=T =ITaTer a7 FEaE T §

(B) aer I=a =gmarera §

(C) &Faw fSrem =amare |

(D) Fhae S=gaw =t J [A]
n & 9 oM & @A (x+a), (x"+a") &1 g qUHETS
gm?

(A) n & Zhaa faug o=t & forg

(B) n & oft 7t & forg

(C) n & Saer 9T AFT & forg

(D) n & dhae g7 A7F1 & forg [A]
e ez & wema-dadt sy 82

(A) aER= (B) 7t

(C) =remunfor (D) TifRTST [D]
f=iffa & @ S &RE oA B FTeEy H
FPruffya =3 & fPrg earerd =8 82

(A) auf &1 g\ f@aror (B) amaw=

(C)wmma gl (D) yraferd v [A]

[D]

137.

138.

139.

140.

141.

142,

143,

144,

145.

146,

147.

148.

149.

150.

Fill in the blank with appropriate determiner
from the options given below:
.. Pen will do.
(A) Enough (B) Many
(C) Any (D) Much [c]
ﬂﬁco&ig:%iﬂ tan & =?
(A) (B) Yo' —a®
Jr=a® a
(O“b;“ (D) [B]
b’ —-a’
R & =AIRET & ST=HEraT ford /= Srar 87
(A) &, da ATgeEt (B) ST. gt SRR AT
(C) . Rrep IR (D) 3. TS orega FaH
[C]
:;m?ﬁmmmaﬂa;ﬁqa?-ﬂwﬁafﬂqiﬁaﬂemﬁ
?
(A) Tifees sreft wfafa (B) &. durm Rmfa
(C) 3eries Agar afafa (D) St vaafafa [*]
uer ufes | ar arff eik @ snaelf & aur = Erdf ok
| "radi g1 o1a & s F g vy aRafdfa s aa @
at e grff ok & g’ gt Siren 81 a«r A9 & T
ardf a1k & a7 ghmr? _
(A) 13 &t (B)10di
(C) 114t (D) 12Eﬁ [D]
ﬁsamiﬁ’mﬁ-ﬁaﬁﬁm_
(A) o (B j-aw?ra?rr
fg%w & s {? "
A qATE 8?
(A) a1 (B) Ffemeg
(C) gsiife (D) sredtema [c]
ToauTd gRT AT @ f@Aue ufeg # fes s
T Bl o @2
(A) Tt &Y g e 1 1/4
(B) Tewl it ghet e ot 1/6
(C) et &t ot T &1 1/3
(D) et & et Tiweat i 1/2 [B]
HiToeher ST ehi IETEROT 872
(A) XOR (B)>
<HITI] (DY if [A]
AR B ad & fRraht sgmem @5 srffard @2
(A) 5 (B) 2
()3 (D) 4 [B]
T 14 a9 &1 ekt wam gew av o@ gu net &t 5
Y. i gl & 9w T8 ue uran g1 Remd A= 3w |
mﬂ&a%@gﬁgmﬁ%%qmﬁmﬁﬂaﬂnm
(A) mgRay, Scaa g (B) Fane gfe aty, sigae d@
(C) e gfe iy, Ieaet 2 (D) &R &R &, sraaa a9 [B]
geftaa & Twg Surg @l A F gee &R g
qETeRT §?
(A) BUR R GF 7 g1
(B) @1 a1 Je gHT
(C) ST 7T WR a3t @leAT
(D) 9rex & agx &R TERAT [c]
TRy & e O § gaww iRa i Fafl Ra @2
(A) w1agR (B) 3retax
(C) 3R (D) =ter [B]
I=A9UT 2reE, T Wl Y-l &2
(A) 3FT + ToT (B) 3 + quor
(C) 37 + Qo (D) 8rg + gwor [D]





